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Instructions:

This paper consists of two sections (Section A and Section B)

Section A

This section 1s compulsory and you are expected to answer all questions.

Use the mark reading sheet provided to answer all questions to section A Use only
an HB pencil to fill iIn the mark-reading sheet Include the module code, your name,
student number as well as the unique number on the mark reading sheet

Do not write answers to section A inside the book

Section B

This section has four essay type and short questions Answer only two questions
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SECTION A
THIS SECTION IS COMPULSORY

Answer all the questions on a mark reading sheet. Include the unigue paper
number on the mark reading sheet.

QUESTION 1
Where was the Mousailon located?

(1)  Antioch
(2) Athens
(3) Pergamum
(4) Alexandna
(5 Greece
QUESTIONS 2-6
Select the correct option from 1-5 to answer questions 2-6 below
(1) The hbrary at Pergamum
(2) The library of Ashurbanipal
(3) The Alexandnan !ibrary
(4) Monastic libranes
(5) The Vatican hbrary
QUESTION 2
contained many parchment scrolls
QUESTION 3
was established by ST Benedict
QUESTION 4
A private book collection of 5000 manuscnipts formed the nucieus of

QUESTION 5

Clay tablets were housed n a large number of rooms in the palace There was some
sort of arrangement by subject in

QUESTION 6

was a research centre and served as an institute for advanced learning
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QUESTION 7

indicate the incorrect option
Besides libraries and information centres, the following mformation institutions also
have the supply of information as their primary purpose

(1) museums

(2) Dbanks

(3) publshers

(4) archives

() booksellers (2)

QUESTION 8

Indicate the incorrect option

Library co-operation is necessary as a result of

(1)  decreasing funds

(2)  anincreasing volume of information

(3) Increasing user demands

(4)  the virtual library

(5)  increasing literacy (2)
QUESTION 9-12

Select the correct option from 1-5 to answer questions 9-12

(1)  Natural hentage museums

(2) Technological and industrial museums
(3) Sitte museums

(4) Theme parks

(5)  Research or educational museums (2)
QUESTION 9

- are thematic museums which focus on a specific subject. (2)
QUESTION 10
-.. collect plant types, vertebrates, invertebrates and archaeozoological objects. (2)

QUESTION 11

... depict the historical development of technology (2)
QUESTION 12
. emphasise visitor participation. (2)
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QUESTION 13

Indicate the_incorrect option

Library computensation has had an important impact upon
(1)  sources of information

(2) information retneval

(3) environmental factors

(4) storage of information

(6) access to information

QUESTION 15

Select the correct option

(1) The best-known work on librarianship by Naude was wntten during the
Baroque period.

(2) National ibranes were established during the 17th century

(3)  The Library of Congress was established in 1900

(4) Stamping the due date on the date stamp sheet inside the book 1s part of the
physical preparation of library items

(5) Sunday school libraries were small church libraries that could not be used by
the public

QUESTION 16-19

Select one of the library types in 1-5 below to answer questions 16-19
(1)  National hbrary

(2) Public library

(3) School library

(4) Special ibrary

(5} Academic library

QUESTION 16

Preservation is an important aim pursued by the .
QUESTION 17

Fora the promotion of reading s an important aim

QUESTION 18

Recreation and the promotion of culture are aims pursued by the .
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QUESTION 19
The am of the is to meet the teaching and research information needs of its
members (2)
QUESTION 20

Indicate the_incorrect option
The invention of printing was important for libranes because

(1)  Hand-drawn illustrations replaced woodcuts
(2) Pnnted books were available in large numbers and could be borrowed and
used outside the library
(3) Emphas:s shifted from the preservation to the use of records
(4)  The written word now preserved ideas more frequently
(5)  The transfer of knowledge became far more efficient (2)
[Total Section A= 40]

SECTION B
Answer only TWO questions from Section B.

1 Wnte bnef notes on the following topics ( 6 marks each)
(a) Information ethics
(b) User Education
(c) Library Catalogues
(d) Current awareness service

(e) Collection development [30]

2 (a) Explamn what you understand by the term “Academc library” (5)
(b) List and discuss user groups of an academic library (10)
(c) Discuss the aims and functions of an academic (15)
[30]
3 (a) Discuss the characteristics of a special library (12)

(b) Describe the relationship between archives and records management with reference to

the life cycle of a record (18)
[30]

4 (a) Give a clear definition of the concept “School library” (5)
{b) Explain how the aims of the school hbrary relate to the needs of the users (15)
(c) Briefly discuss problems facing school libraries in your country today (10)
[30]

[Total Section B= 60]
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